I udten werl

\l National Testing Agency

Test Date : 07 sep 2022

Test Slot : siot 2

Subject : PGQPO07-Philosohy

Sl. No.1
QBID:1555021

Choose the correctly spelt word.
(1) Defalcation

(2) Difalcation

(3) Defalcasion

(4) Defalcatation
fafafEn & Tevg s &
(1) &

(2) T

(3) =

(4) ¢

1[Option ID=19201]
2[Option ID=19202]

3[Option ID=19203]
4[Option ID=19204]

Sl. No.2
QBID:1555022

Given below are four sentences in jumbled order. Select the option that gives their correct order.

A. Once on their way, the stones did not stop until they reached the bottom of the hill.

B. You had to be very careful not to start a landslide.

C. Loose stones rattled down the cliff.

D. And they took other stones with them. so that there was soon a cascade of stones.

Choose the correct answer from the options given below :

1) C.A.D.B
(2) BA.D.C
3) B.C.A.D
(a) C.D.B.A

4 & P fAU U §: U SHTUHYUT (Assertion A) & ¥ T [aRad & ol GIRT 39D PRUI (Reason R) P ¥ T:
T A ; TPRIT I8 W B © |
BRUIR : A T YR 8 | $S Ued 39dIE 61d ©. SUIEY PRI 8Id 5T 1 I Wi 781 & |

SURIEd DU & i . -1 U e fdeedl T 8 9ad Sugad SR D1 941 BIfery |

(1) A SRR IA TG § IR R A D Tg AT §
(2) AJRREH TSI E AfFTR AT IS e T8 ©

() AGEI R AP R TSI TS
(@) AGeiEieafPIRTEl B

1[Option ID=19245]
2[Option ID=19246]
3[Option ID=19247]
4[Option ID=19248]
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Choose the correct sentence.

(1) We went to the station to see them off.




(2) We went to the station to see them out.
(3) We went to the station to goodbye them.

(4) We went to the station to say them goodbye.
Hi9 31 w4 iU U § 0% fHFYA (Assertion A) F w9 # [0 & @ g9 99 SRU (Reason R) & ¥4 #:

HfyeyT A« TomT e Syafd 2

FRU R ; BT 3@Rid Weg ¢ | A7 9t o@Rid U IR IS EA T |

IWiEd FYF & S H, A U 10 feadl § § 998 Iuged Ui B 999 Sk
(1) AARRIE 9T SRR, A 31 9t oo

(2) A #R R IH G E AT R, A 1 98 arem T8 2

(3) ATEiZ AR GE T

(4) A e R w8l B

1[Option ID=19273]
2[Option ID=19274]
3[Option ID=19275]
4[Option ID=19276]
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Match List I with List IT

List I (Wood) List IT (Synonvm}
A pervasive I filter
B. |fsieve II. [widespread
C. |potent III.  Inetting
D. mesh IV. |powerful

Choose the correct answer from the options given below :
(1) A-II B-I, C-IV, D-III
(2) A-IV, B-IIL C-II, D-I
(3) A-IV, B-IL, C-III, D-II
(4) A-II, B-1, C-II, D-IV

=il 19 F1Y Gl 11 DT e ity

T 1 T 11
A [GHR T 1. [=Iifd e
B. [H3Tdel el . |[YRT Ay 31 51
C. [P Gal 111 ([l @ 3RIR OR ATgH1
D. [doel dsl gl [IV. [He Gd oHl

i feu U fasedi O T TEl 3R &1 99 DI
(1) A-IL, B-IIL C-IV, D-I

(2) A-IIIL, B-IV, C-I, D-II

(3) A-IV, B-I, C-II, D-III

(4) A-l, B-II, C-III, D-IV

1[Option ID=19277]

2[Option ID=19278]

3[Option ID=19279]
4[Option ID=19280]

Sl. No.5
QBID:1555025




Which two of the following are in correct form ?
A. Let's go to the cinema, shall we ?

B. Let's go to the cinema, do we ?

C. Let's not go to the cinema, shall we ?

D. Let's not go to the cinema, shan't we ?

Choose the correct answer from the options given below :
(1) A and D only

(2) A and C only

(3) B and D only

(4) B and C only

Rmarr e g I s EsE E ?

(1) FofE uig

(2) M Ty

(3) M4

(4) ¥g= g

1[Option ID=19281]
2[Option ID=19282]
3[Option ID=19283]
4[Option ID=19284]

Sl. No.6
QBID:1555026

Choose the option which is opposite in meaning to the following word:

Castigate

(1) Cominend

(2) Reprimand

(3) Flagellated

(4) Commotion

W & Wi wE-a qwm g g 2

(1) &= # ofoa S e ¢ |

(2) Tpa § off seia S S 8 |

(3) HfSaaREs HFRIG Qe F90 9gaa- & faFd of o & |
(4) &=t ueRia g Samelt &1 Sgaed a9 $ R T F WE W ST T E |
1[Option ID=19285]

2[Option ID=19286]

3[Option ID=19287]
4[Option ID=19288]

Sl. No.7
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Identify the correct indirect narration for the following sentence :

"Who now." they had asked. "Will listen to our troubles and protect us from the crocodiles" ?

(1) They had wanted to know who would listen to their troubles and protect them from the crocodiles.

(2) They had wanted to know who then would listen to their troubles and protect them from the crocodiles.
(3) They had wanted to know who will now listen to their troubles and protect them from the crocodiles.

(4) They wanted to know who will listen to their troubles and protect them from the erocodiles.




fore g ®1 3R srifd arfam ve wu= 81, 99 ey 99 #6d § | 9Td SETER g1y |

A, gfedre=

B. &&0mquf

C. agfés

D. Sy3OTEA

E. 3o
= fau o fowedt § 9§ 999 99ged SR 1 904 BN
(1) ¥T@A.B.D
(2) B, C. D

(3) Ha0 C. A. B
(4) $3a D.E. C

1[Option ID=19289]
2[Option ID=19290]
3[Option ID=19291]
4[Option ID=19292]

Sl. No.8
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Which of the following is a one-word substitute for 'safe to drink’ ?
(1) Potable

(2) Suitable

(3) Edible

(4) Pliable

A 59 Wes F1 49 & | FH-91 vafoar e € 2
(1) A&

(2) F&e

(3) = g

(4) Awdis

1[Option ID=19293]

2[Option ID=19294]

3[Option ID=19295]
4[Option ID=19296]

Sl. No.9
QBID:1555029

Identify suitable preposition from the options given below to compute the sentence.

Neha would think it her to do such a small work.

(1) under

(2) below

(3) above

(4) beneath

T f e T & -
A, THHIYED
B. =M=
C. firgar

D. 3ds
E. T=f&

A feu U fosedl § 9 999 SUged 3TR B 909 Sias
(1) FWA. B, C
(2) #9@B.C. D
(3) FWC.D,E
(4) ¥TWA.D.E

1[Option ID=19297]
2[Option ID=19298]
3[Option ID=19299]
4[Option ID=19300]
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QBID:15550210

Tdentify the active voice for the following sentence :

These things have been left here by an unknown person.
(1) An unknown person leaves these things here

(2) An unknown person have left these things here

(3) An unknown person has left these things here

(4) An unknown person had left here these things

T[E T ST 90 ST |

(1) 9dF SEf B I § o |

(2) IS S0P FH B |

(3) S B B g1 § o |

(4) B & UAS I & &l |

1[Option ID=19205]
2[Option ID=19206]
3[Option ID=19207]
4[Option ID=19208]

Sl. No.11
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Amid economy crisis and political turmoil in Sri Lanka who has been appointed as the new PM of Sri Lanka.
(1) Maithripala Sirisena

(2) Ranil Wickremesinghe

(3) Mahinda Rajapaksa

(4) Gotabaya Rajapaksa

fidit & snfie dare ud Iemiad siifd & st e &1 a1 gyt fed Fyed fearm g 2

() Farer R

@ e fapafd

(3) Hig=ISTE

(4) TETERT ISIE

1[Option ID=19209]
2[Option ID=19210]
3[Option ID=19211]
4[Option ID=19212]

Sl. No.12
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Who has become the First female to took the office of President of Tanzania and the third woman head of the government of country in
East African Community ?

(1) Samia Suluhu Hassan

(2) Agathe Uwilingiyimana

(3) Sylvie Kinigi

(4) Sahle-work-Zewde

aan & PO F1 96 HR Te0 SR arelt wud Afeen R gdf anhiel eed # 5% B WeR YE §91 g drad Afeen 19 a4 2

(1) wiEn g e
(2) g ShfERREm
(3) Toedt fofh

(4) 9zd-T% vae
1[Option ID=19213]
2[Option ID=19214]

3[Option ID=19215]
4[Option ID=19216]

Sl. No.13
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India held the first spot in the International Shooting Sport Federation World Cup 2022 which was being held in .




(1) India

(2) China

3) UAE.

(4) Egypt

SR YT WIE BN ats $Y 2022 H HRA - TYH ®IF UG a1, foret sieH g
(1) HRd

2 94

3) U3,
@) iy

1[Option ID=19217]
2[Option ID=19218]
3[Option ID=19219]
4[Option ID=19220]

Sl. No.14
QBID:15550214

Who has won the Men's Single Title at 79th Edition of the Ttalian Open being held in Rome ?
(1) Stefanos Tsitsipas

(2) Novak Djokovic

(3) Rafael Nadal

(4) Roger Federer

I F amhiferd et i % 799 T § 929 @ & Uhd (&de & e oial ?
(1) EieAr fafom

(2) s dPiEs

(3) IhE e

(4) IR FER

1[Option ID=19221]

2[Option ID=19222]

3[Option ID=19223]
4[Option ID=19224]

Sl. No.15
QBID:15550215

What is the current year estimation of the GDP growth accordmg to the Nirmala Sitharaman in the Union Budget 2022-23 ?
1) 9.5%

(2) 9.9%

(3) 9.2%

(4) 8.5%

oyt Hiarmw gRT wRgd T a9ie 2022-23 F AHT9R 9 74 S oishd afE &1 ogEE e g 2
(1) 9.5%

(2) 9.9%

3) 9.2%

(4) 8.5%

1[Option ID=19225]

2[Option ID=19226]

3[Option ID=19227]
4[Option ID=19228]

Sl. No.16
QBID:15550216




All the intellectuals are very emotional, because :
A. They are thinking beings

B. They are logical beings

C. They are mathematical beings

D. They are philosophers

E. They are layman

Choose the correct answer from the options given below :
(1) A, D Oaly
(2) B. C Only
(3) C.E Ounly
(4) D.E Ouly

IR gEoidt sga YIgF B § e

A, T Hre e wioh
B. ¥ afee mft & |
C. T il Wil & |
D.demfE T |

E. 39T oz |

i 4T U fosedl # § 9o SUgad SR @1 909 Sie
(1) $T@ A, D
(2) 90 B. C

(3) $T@C.E
(4) @@ D. E

1[Option ID=19229]
2[Option ID=19230]
3[Option ID=19231]
4[Option ID=19232]

Sl. No.17
QBID:15550217

Choose the best options for football players :

A. Player 'XYZ' shows team spirit

B. Player 'XYZ' have sportsmanship

C. Player 'XYZ' have hatred for other team-mates
D. Player "XYZ' shows jealousy

E. Player 'XYZ' shows patience

Choose the correct answer from the options given below :
(1) A.B,C only
(2) A and C only
(3) B.C.D only
(4) A.B.E only




pea & fEanedl & 17 gatan [9eed 9T |

A. fEaE 'XyZ fm e ek s g |

B. @t 'XYZ # @a-yET e |

C. st 'XYZ' & o Sm-vew &y g € |
D. f&ardl 'XYZ' o vefdfd sXar & |

E. e 'XyYZ' 9d veftfd s g |

9 feu U fawedt & @ FE9 SUged S &1 994 S
(1) WA, B, C
(2) FaaA SR C
(3) ®TUB.C. D
(4) 3T A.B.E

1[Option ID=19233]
2[Option ID=19234]
3[Option ID=19235]
4[Option ID=19236]

Sl. No.18
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A person can learn Sanskrit without a teacher :

A. Tt 1s not possible learning Sanskrit without a teacher; as it is a technical subject.
B. It is possible to learn Sanskxit as it is non-technical subject.

C. Anyone can learn it; as it is just a language.

D. It can be learned by daily practice under a teacher.

E. It is easy for a person, who know Hindi language.

Choose the most appropriate answer from the options given below :
(1) A and E only

(2) B.C and D only

(3) A.B and E only

(4) A and D only

FIe ouied (31 et eras & Teg 9w IEa E

A. &1 eromoE 3 Tega diE weE TE T wife 75 TF aeais! e g |
B. ¥55d diEA1 9mg & dif 98 U6 TN-ab-ie! [9ua § |

C. 58 ®i5 1 9rg gHa & FUITE 5 H90 UF HIW T |

D =il sl com i tie swm s mam I S T ESal £ |
Emftdivweod Sl o sRuawt |

= fer o fowedf § § 999 SUge SR 1 904 S
(1) FTWASRE

(2) $TAB, C 3R D

(3) HTWA, B IRE

(4) Hag A R D

1[Option ID=19237]
2[Option ID=19238]
3[Option ID=19239]
4[Option ID=19240]

Sl. No.19
QBID:15550219




Give below are two statements :
Statement I : Pollution level in Delhi may be reduced by reducing the factories.
Statement IT : All factories are creating noise pollution and are dangerous to health.

In the light of the above statements. choose the correct answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement I is incorrect
(4) Statement I is incorrect but Statement IT is correct

19 S ByA Ry &
HY | ; 3wl & ugun 1 ¥R $REH 9eH F A1Ed 9 92r] of §6d1 B |
FUT1 ] : IR BREH @-TgT TOF B & SR @R & Y 96 ¢

IRIF FYF & A 8§, - 5y U et § 3§ 999 Suged Iue & 99 S
(1) FUF AR 4 981 2

(2) ®uF ] &R 11 <Hf 7o &

(3) T TR AT FuT Il ToE &

(4) T ] TG § AfET wuE [ wE B

1[Option ID=19241]
2[Option ID=19242]
3[Option ID=19243]
4[Option ID=19244]

Sl. No.20
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Give below are two statements :
Statement I : Education is important for both male and female.
Statement II : Government must encourage co-eduecation, as it is required for country's development.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are mcorrect
(3) Statement I is correct but Statement I is incorrect
(4) Statement I is incorrect but Statement IT is correct

R Rrmd
FY [ ; ToUT +i Afzaal, 9, F R frem geagl 2
FUT] ] : TER T Ta-T81 FT WdeT o1 Tiey F0iE 98 <0 & Oe™ F Y Jaws ¢ |

IO FYA & WS 4, 19 8y U iFed § § 998 Sugad IR &1 904 S
(1) FUF] AR IS T8 8

(2) FYF1 SR 11 =41 7o &

(3) FUF] FEl &, A= FuF 11 Toa &

(4) Fu 1 7o &, Wiee FuA 11 981 &

1[Option ID=19249]
2[Option ID=19250]
3[Option ID=19251]
4[Option ID=19252]

Sl. No.21
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i then the valueof ., 1 is
x+ X+

=32

S
(1 =2




(2) =8

3) =1
(4) =4
g | o1 @, 1 FIHAE-
x+—==2 X +—=
x x
1) =2
(2) =8
3) =1
4) =4

1[Option ID=19253]
2[Option ID=19254]
3[Option ID=19255]
4[Option ID=19256]

Sl. No.22
QBID:15550222

Give below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : If the volumes of two cubes are in the ratio of 3:27 then their surface areas are in the ratio of 4:0.

Reason R : If the surface areas of two cubes are in the ratio S} : S5. then their volumes are in the ratio §2° : §2°

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A

(3) Aistrue but R is false
(4) Ais false but R is true

A1 31 B fAU MU & U 3HYT (Assertion A) B FU H ARG 8 o1 GIRT IHB BRI (Reason R) b FU :

SHIYHYA A : 43 & 91 & ST DT SUId 3:27 8 ol 3D FeIe SFBd Pl UM 4:9 T

PRUIR : TS &1 941 & Gdg SA5A BT I S; : S, & a1 30 AT B AT 52 . 525 TN

IRIGd Y B 3fdid O, Fii fGU T fddbed T I T8l IR &1 9097 Dot |
(1) ASRREAIITE IRR AT Jel OB &

(2) AIRRSH IO E. Al R AT Je T ol &

() AT L AfPR 3T

(4) ANFI AP RIT .

1[Option ID=19257]

2[Option ID=19258]

3[Option ID=19259]
4[Option ID=19260]

Sl. No.23
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If the high and base radius of a cone are inereased by 50% and 25% respectively then the ratio between the volume of a given cone and
the new cone is

(1) 8:27

(2) 75:32

(3) 32:75

(4) 27:8

i ol =g 1 31 SR SR ST DI HH: 50% 3R 25% F¢1 481 &Y dl Q- ¥ SR T4 = & Sa 1 SUrd gl -
(1) 8:27

(2) 75:
(3) 32:
4) 27:

[¥5]
ok

== |

1[Option ID=19261]
2[Option ID=19262]




3[Option ID=19263]
4[Option ID=19264]

Sl. No.24
QBID:15550224

The probability of selecting a vowel from the word TRIANGLE is -

(1)

(2)

Teq TRIANGLE ¥ 9 Us X g4 1 Uigidsan &1 grl-

(4)

COl e 0ol L 00l = ] b2 ] 01 Wh G0 W 0l = ] kD

1[Option ID=19265]
2[Option ID=19266]
3[Option ID=19267]
4[Option ID=19268]

Sl. No.25
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If one root of quadratic equation 3,2 _3y 4 (2k+1) = 0 is five times the other then the value of k is :
3

1) —
16

(2) -

(3) -

oo | e ;|L.»J

3
(4) -
g

ST WG 9,2 3, 4 (9p 4 1) =0 1 UP HA G P 914 T1 & Il ke 1 @ 1 811 2

3
(1) —
16

(2) -

3) -

== RIS ;lw

3
(4) -
8

1[Option ID=19269]
2[Option ID=19270]
3[Option ID=19271]
4[Option ID=19272]

Sl. No.26
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Avarana Sakti and Viksepa Sakti are the concepts of :
(1) Samkara

(2) Ramanuyja

(3) Madhva

(4) Nimbark

rev mfaa i fEdy =i fe &t smarod & |




1) ==
(2) A
(3) HIET
(4) fEis

1[Option ID=21101]
2[Option ID=21102]
3[Option ID=21103]
4[Option ID=21104]

Sl. No.27
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Which of the following is mismatched ?
(1) Advaita — Vivartavada

(2) Nyaya — Satkaryavada

(3) Samkhya — Parinamavada

(4) Bauddha — Arambhavada

feftfaa @ s o e = 8 7

(1) T famwae

(2) gE-gRaE

(3) Wiw-gRuTHaTE

(4) Tg-IREEE

1[Option ID=21145]
2[Option ID=21146]
3[Option ID=21147]
4[Option ID=21148]

Sl. No.28
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Who among the following is considered as the propounder of Shunyavada ?
(1) Nagarjuna

(2) Dignaga

(3) Gaudapada

(4) Vasubandhu

0 & ¥ 58 Srae &1 vads A wa | 2

(1) TS
(2) fgam
(3) igure
(4) T

1[Option ID=21189]
2[Option ID=21190]
3[Option ID=21191]
4[Option ID=21192]

Sl. No.29
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The term Interactionism is used with reference to :
(1) the relation among the five senses

(2) the relation between mind and senses

(3) mind-body relation

(4) the relation among the organs of the body
Tee ‘o hame feg def A mga g 2 2

(1) o= it & &9 d9ey

(2) =4 3R il & o day

(3) 79 3R =R F &7 d6y

(4) =R & o & 9 gy

1[Option ID=21233]
2[Option ID=21234]
3[Option ID=21235]
4[Option ID=21236]
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According to Aristotle substances are

(1) abstract entities

(2) manifestation of an Absclute substance
(3) “particular things” (individuals) in general
(4) purely Gross matters

I F R T E |

(1) SRy WY

(2) u Fruy ved @ sifiefa

(3) I e agy (@t

(4) TS 7S w=rd

1[Option ID=21277]
2[Option ID=21278]
3[Option ID=21279]
4[Option ID=21280]

Sl. No.31
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Whose statement is — “To be is to be the variable™ ?
(1) Spinoza

(2) Kant

(3) Wittgnestein

(4) Quine

fFHs FUF § - " 79 TG4 & oy uiad=sie &9 A e "2
(1) &AM

(2) FE

3) fEm=m

(4) @A

1[Option ID=21321]
2[Option ID=21322]
3[Option ID=21323]
4[Option ID=21324]

Sl. No.32
QBID:894227

Who among the following philosophers made the statement — substance is ‘something. I know not what’ ?
(1) Leibniz

(2) Spinoza

(3) Hume

(4) Locke

it anife 7 & e s famn - (0@ ) ‘Fo e S g9 I T6l & 2
(1) d&tEd

(2)

(3) B¥H

(4) di®

1[Option ID=21365]

2[Option ID=21366]

3[Option ID=21367]
4[Option ID=21368]

Sl. No.33
QBID:894228

“The view, that universals only have a logical existence' was accepted by —
(1) Plato

(2) Aristotle

(3) William of Ockham

(4) None of the above

< HEYE! 1 Hod difed Q51 5,77 59 AHAEGIE 31 HTURITEE & Toail B fhad gRT SieR f6al 7747 41 2




1) @&

(2) =

(3) faferom =i arw
(4) 5T 9 =I5 T8
1[Option ID=21393]
2[Option ID=21394]

3[Option ID=21395]
4[Option ID=21396]

Sl. No.34
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Who is the author of “On what there is™ — 1948 (a paper) ? Choose from the following options.
(1) David Hume

(2) P.F. Strawson

(3) W.V.0. Quine

(4) Ludwig Wittgenstein

“3ff7 e T A - 1948 (0F TN & 06 31 ¢ ? Hfied e g3 3 |
1) shswm

(2) GEs. EraT

(3) e ALa oA

(4) Tl ey

1[Option ID=21397]

2[Option ID=21398]

3[Option ID=21399]
4[Option ID=21400]

Sl. No.35
QBID:8942210

S'amkara’s Commentary on Brahmasutra is knovn as :
(1) Jhanabhasya

(2) S'ribhasya

(3) Sarirakabhasya

(4) Anubhasya

FEEH T TBT B YIS T HEel 27
(1) FEH

(2) divrg

(3) FHREHH

(4) STTHY

1[Option ID=21105]

2[Option ID=21106]

3[Option ID=21107]
4[Option ID=21108]

Sl. No.36
QBID:8942211

Who among the following is the propounder of the idea of Noumena ?
(1) Plato

(2) Locke

(3) Kant

(4) Hegel

9 ¥ ¥ $1 A $1 2EYR &1 760 ¢ ?
1) ==

(2) wiw

(3) I

(4) =

1[Option ID=21109]

2[Option ID=21110]

3[Option ID=21111]
4[Option ID=21112]




Sl. No.37
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An Essay concerning Human understanding” (1688) was written by
(1) Rene Descartes

(2) Locke

(3) Leibniz

(4) Spinoza

HE &) §HE & (090 § U ey (1688) foes g feran wan o 2

1) wEE

(2) @is

(3) dEMEd

(4) faEm
1[Option ID=21113]
2[Option ID=21114]

3[Option ID=21115]
4[Option ID=21116]

Sl. No.38
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“Naya” is a metaphysical concept of
(1) Buddhism

(2) Nyaya

(3) Advaita

(4) Jamism

<UD WA e § |

1) Fg

(2) dwE =g

(3) afa:

(4) ==

1[Option ID=21117]
2[Option ID=21118]
3[Option ID=21119]
4[Option ID=21120]
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Which school of Indian Philosophy maintains that non-being is perceived ?
(1) Prabhakar Mimamsa

(2) Buddhism

(3) Nyaya

(4) Advaita

g URdTT 2=F 79 F ATIR Ve FT TEE T @ ?
(1) wur=ER A

(2) a5

(3) =

(4) afgd

1[Option ID=21121]

2[Option ID=21122]

3[Option ID=21123]
4[Option ID=21124]

Sl. No.40
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Bhava- Cakrah is the concept of
(1) Bhagavatism

(2) Jamism

(3) Advaita

(4) Buddhism

Y- 9 H § a3t smyrmm £ 2
(1) HFEdgig




(2) &9
(3) agd
(4) =g o

1[Option ID=21125]
2[Option ID=21126]
3[Option ID=21127]
4[Option ID=21128]
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Which one of the following elements 1s excluded from the number of elements accepted by Charvaka ?
(1) air

(2) water

(3) fire

(4) ether

FrafifEd # § $1 W 9@ 9Ra% R Ve adl 1 980 4 a1 E |
(1) 99

(2) o

(3) affyr

(4) SIFE

1[Option ID=21129]

2[Option ID=21130]

3[Option ID=21131]
4[Option ID=21132]
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Who among the following feminist thinkers is aceredited with the notion of eco-feminism ?

(1) Vandana Shiva
(2) Tudith Butler
(3) Mary Wollstonecratt

(4) Simone De Beauvoir

FefafE Tried fare! § § 59 seishteg 1 arm @ ges oo € ?
1) g

(2) Sfey sewr

(3) #f FeEmIR

(4) FEER A

1[Option ID=21133]
2[Option ID=21134]
3[Option ID=21135]
4[Option ID=21136]
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What is the most prevalent electoral system of Democracy?

A. Plurality system

B. Majoritarian System

C. Proportional representation
D. None of these

Choose the correct answer from the options given below :
(1) A.B.C Ounly
(2) A.B.D Ouly
(3) A.D Oualy
(4) D Ouly




e & TR Heay v e o S A R 2
A ST Jome

B. ggd®® quimed!

C. Ui wiaridd

D. SWiE & § #1$ 78

= feu T fowedf & & 95 SR |
(1) A, B. C #gd

(2) A, B.D %da

(3) A, D®am

(4) D Fam

1[Option ID=21137]
2[Option ID=21138]
3[Option ID=21139]
4[Option ID=21140]
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Principles of liberal democracy include :

A. Government by consent
B. Public accountability
C. Majority rule
D. Recognition of minority right
Choose the correct answer from the options given below :
(1) A.B.C.,D only
(2) A, B, C only
(3) B. C only
(4) C.D only

FrafafEe # 9 o1 9 fagi Ser dsdy & fsiaf § enfaa & 2
A. TeafT T 95fia WeR (aHe 913 $iaw)
B. IidwiE warEds

C. sgae &1 fmm
D. HeoEEE HEUER B A

i fou v el # € v g g
(1) A, B.C,D &9

(2) A B.C ¥

(3) B, C&aq

(4) C.D&aq

1[Option ID=21141]
2[Option ID=21142]
3[Option ID=21143]
4[Option ID=21144]
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Who among the following said. 'democracy is a government of the people, for the people and by the people'?

(1) Sceley

(2) Hearn Shaw
(3) Lincoln




(4) Mill

FrafafEn & 3 fras oguR <Oieds Ol 21, G 5 R o O gRI WER § I
1) it

(2) g =l

(3) fHEq

(4) =

1[Option ID=21149]

2[Option ID=21150]

3[Option ID=21151]
4[Option ID=21152]
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According to which of the following feminist thinkers ‘the basis of women’s subordination is ultimately biological’.
(1) Kate Millet

(2) Sheil Rowbatham

(3) Shulamith Firestone

(4) Mary Wollstonecraft

FofafEn Tied] fane! § § fFus ogar aftemst #1 sfiaar &1 smeR sida: sfis & 1
1) e fiwe

(2) e IAarem

(3) TEIHE FETEH

(4) 7 doErwTE

1[Option ID=21153]

2[Option ID=21154]

3[Option ID=21155]
4[Option ID=21156]
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In which of the following texts the concept of *sthitaprajiia’ is given?
(1) Mimamsa sutra

(2) Bhagvadgita

(3) Kathopnishad

(4) Manusmriti

Frofefea 7 @ S @ oy § Ruduy $1 s@umon Suds gidl & ?

(1) Hiat gz

(2) W=

(3) waM-me

(4) 73

1[Option ID=21157]
2[Option ID=21158]
3[Option ID=21159]
4[Option ID=21160]
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Which of the following does not belong to ‘Prushartha Catustaya’
(1) Vivek

(2) Moksa

(3) Kama

(4) Dharma

ot 8 9 # goue wqpa $1 o T ?

1) gEw

(2) =iy

(3) FH

(4) =

1[Option ID=21161]
2[Option ID=21162]




3[Option ID=21163]
4[Option ID=21164]
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According to Gandhi which book forms the basis for his notion of ‘SARVODAYA’ ?
(1) Unto This Last

(2) Hind Swaraj

(3) My Experiments with Truth

(4) Harijan

i F R SHF <Talen’ F SEYR F R T G TS YR TR § 2

1) AR

(2) feg =W

(3) A5 ey fde oy

(4) g

1[Option ID=21165]
2[Option ID=21166]
3[Option ID=21167]
4[Option ID=21168]
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Who among the following is the propounder of the notion of Aprthakasiddhi ?
(1) S'amkara

(2) Ramanuja

(3) Dignaga

(4) Kanada

99 & § F19 squsiae 31 smyRm &1 yads 7 2
(1) =S

(2) HEE

(3) fezm

(4) Sl

1[Option ID=21169]

2[Option ID=21170]

3[Option ID=21171]
4[Option ID=21172]
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In a traditional square of opposition, what relation 1s there between A and I ?
(1) Contrary
(2) Contradictory

(3) Sub Alternate
(4) Sub Contrary

W iy S i & A iR [ s Saamgsy g 2
(1) fagfa

(2) =graTe

(3) Sudmivy®

(4) 39 oo

1[Option ID=21173]

2[Option ID=21174]

3[Option ID=21175]
4[Option ID=21176]
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P-Q.PvQ,P>QandP = Q are all True only when
(1) Pis True and Q is True
(2) Pis True and Q is False
(3) Pis False and Q is True




(4) P 1s False and Q is False

P.Q. PUQ, P>Q =R P=Q =1l v @ift € 7@
(1) PI@EARQ TR

(2) PO R QTd?

(3) PTmae iRQ ¥ ®

(4) P 7 g R Q TG &

1[Option ID=21177]
2[Option ID=21178]
3[Option ID=21179]
4[Option ID=21180]
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(1) Figure

(2) Mood

(3) Premise

(4) Validity

% TRy e & sryRaa AR el F e s I sH B A sEd | 2
(1) smephd

(2) I5

(3) HYREE

(4) Femm

1[Option ID=21181]
2[Option ID=21182]
3[Option ID=21183]
4[Option ID=21184]

The order of the standard forms that make up the premises and conclusion of a categorical syllogism is known as

Sl. No.54
QBID:8942229

Match List I and List II :

List I (Propositions) ;f;rl;[sii}t_:tl::;]g
A JANSisP I |sP=0
B. NoSisP 1. |SP =0
C. |Some SisP T |SP£0
D. |Some S is not P . | sP=0

Choose the correct answer from the options given below:
(1) A-L B-IL C-III. D-IV
(2) A-IL B-III, C-IV, D-I
(3) A-III, B-IV, C-II. D-I
(4) A-I, B-II, C-IV, D-I1

Yeil-1 9 1Y YEI-11 BT e Siferg

T 1 () T 11 (Ut
A [@fis.pB I |sP=0
B. |@i3 s paElE I [sP=0
C. |P8s.pE I [SP=0
D |&®s.PAele IV. |sP=o0
= feu e foeedl 1 § 9l SR g |

(1) A-L B-IL C-II, D-IV
(2) A-IL, B-III, C-IV, D-I
(3) A-III, B-IV, C-II, D-I
(4) A-I B-III, C-IV, D-II




1[Option ID=21185]
2[Option ID=21186]
3[Option ID=21187]
4[Option ID=21188]
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Match List T with List IT :

List I (Converted ) List IT (Converse)
A JAlLLS1sP [. |Some Pis S (By limitations)
B. [NoSisP [I. NoPis$S
C. |SomeSisP [II. |Some Pis &
D [Some S 1s not P [V. [Conversion not valid

Choose the correct answer from the options given below :
(1) A-L B-II C-II D-IV
(2) A-IL B-III, C-IV, D-I
(3) A-IIIL, B-IV, C-I, D-II
(4) A-IV, B-II, C-II, D-1

Yeil-1 & WY Y111 &7 e Siforg

e 1 @) T 1 (@)
s, pe L (@5, pe @& 3UR)
BiES.PRIE | I [PEULsTEIE
PES,PE 1L [$SP,S 8

$SS. PRI | IV [SUGRU AR TR 8

frafafad faeedt & 9 w8l SR o1 =g PIfo ;
(1) A-I B-IL C-IIL D-IV
(2) A-L B-IL C-IV. DI
(3) A-IL B-IV. C-I, D-II
(4) A-IV, B-IIL C-IL DI

Ulo|w| =

1[Option ID=21193]
2[Option ID=21194]
3[Option ID=21195]
4[Option ID=21196]
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‘Tts good to put water in your body. so it must be good to put water in your lungs’® — Identify which type of fallacy occurs in above
statement.

(1) Appeal to force

(2) Division

(3) Appeal to majority

(4) Tirelevant Conclusion

% TER § Ul ST ST &, SHOY 9% Bhel § 9H1 STa- 381 8- TedH (% SR 20 T w2 | 59 7oR #1 ofvad s el & |
(1) Weewl $e- &I did

(2) e e

(3) =gHd ¥ i

(4) syl ey

1[Option ID=21197]
2[Option ID=21198]
3[Option ID=21199]
4[Option ID=21200]

Sl. No.57
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What type of fallacy is committed in the following statement — ‘Give me your mobile otherwise there shall be consequences”.

(1) Appeal to force
(2) Appeal to pitti




(3) Act hominem
(4) Irrelevant conclusion

e v & f5g veR &1 aHem & 7 - T 091 GETed B4 31 1 ufony ey $ R §OR 8 w16 o
(1) TETEs] B B 20

(2) za & fom endfim

(3) Us-EHH

(4) @R freed

1[Option ID=21201]
2[Option ID=21202]
3[Option ID=21203]
4[Option ID=21204]
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‘I think you will find that this merger is the best idea for our company, especially because disagreement may mdicate that this company
is not the right place for you : Identify the fallacy involved in the above statement.

(1) Appeal to force
(2) Appeal to emotion
(3) Appeal to authority

(4) None of the above

‘T T ¢ T ame o s o Ao eEn S & oy s o faER € ARy w0 § 59 R s sweals og 9% & 99l € I og et ave o
T E TS Y e o Ry o s § frw veR #1 oRiam mfte & 2

(1) TEewl $34 &1 |

(2) a1 & R enda

(3) wrieEnt & afim

(4) IR A GBS A8

1[Option ID=21205]

2[Option ID=21206]

3[Option ID=21207]
4[Option ID=21208]

Sl. No.59
QBID:8942234

A compound statement that is true for every assignment of truth value to its atomic component is called
(1) Tautology

(2) Truth value

(3) Statement form

(4) Contingent

TF Tgad U T A0 AT UeE & 90 $ Ta® g [0 99 2, seani e
(1) YFzie

(2) Teal
(3) FUF AER

(4) ¥H=ETE
1[Option ID=21209]
2[Option ID=21210]

3[Option ID=21211]
4[Option ID=21212]

Sl. No.60
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Tdentify the fourth figure of this categorical syllogism

M-—-P

a S-M
L8-P
P-M

2 S-M
T

(3)




M-P
M-85
LS—P
P-M
@ M-S
LS—P
ey =mgare %9t =gy el =1 ugar |
M-P
(1) s-P
S P
P—M
@) §-M
S P
M-P
(@) M-S
T B
P-M
(4 M-S
S
1[Option ID=21213]
2[Option ID=21214]

3[Option ID=21215]
4[Option ID=21216]
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If I proposition is True then E. A and O propositions will be
(1) Eis false. A and O are undetermined

(2) A is False. E and O are undetermined

(3) AisFalse. E is True, O is True

(4) Eis True, A and O is False

afe ' adbarad 9 B 4 'E', A, 'O" G&arad B -

(1) E3wd g A R O sfefifa

(2) AETE E RO feffas

(3) AREZETEEOTAE

(4) EF@E A RO 9@ §

1[Option ID=21217]
2[Option ID=21218]
3[Option ID=21219]
4[Option ID=21220]

Sl. No.62
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Given below are two statements : One is labelled as Agsertion A and other ig labelled ag Reason R.
Assertion A : According to Naiyayikas sound is not eternal.

Reaszon R : For Naiyayikas sound is produced and is an effect.

In the light of the above statements. choose the most appropriate answer form the options given below.

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R is correct.

419 31 FuA iU U § U AfHFUA (Assertion-A) F ¥4 # Rif@d § o1 g9 395 R (Reason-R) & w9 &
aifiry-A - RIS & SFER @i wyd 98§ |

FRU-R : 005 $ R @ Soa skl IR e s ¢ |

S U U Syl & il Hoo, A feu T fawed! § 9 999 Iugsd 3o 94

(1) A RREAI @ T R R, A 1 9t oo




(2) A SRR EF TUE afda R, A 1 w8 o T8 &
(3) ATAE AT R TS TE &
(4) AGEI S E T R E

1[Option ID=21221]
2[Option ID=21222]
3[Option ID=21223]
4[Option ID=21224]
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Given below are two statements : One is labelled as Agsertion A and the other is labelled as Reason R.
Assertion A : Berkley objects to Locke’s acceptance of abstract ideas as the meaning of general terms.

Reason R : Berkley thinks that Locke’s notion of our forming abstract ideas is both impossible and unnecessary.
In the light of the above statements, choose the most appropriate answer form the options given below.

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R is correct.

IWRiE HYH & SRS H, A U Y el § ¥ gae Suged 9w $1 99 S
AftieyT (@ ; offe & o vl &1 91yRy U & o & ¥ H 7 § 9650 3 emifi
TR () ; Thel &1 AT § i B YR § 7 AR e faant &1 i sriva @R sAows g1 ¢ |

TIRIEd FUF ® AEE §, 1 2y U Gew § 9 98 39 #1904 S
(1) AFRREATOE AR, A o1 T8 o &

(2) A 9RR 2 90§ T R, A 9 98 auren A8 &

(3) ANTE AT R smT 2

(4 AFWTEAFTRTTE

1[Option ID=21225]
2[Option ID=21226]
3[Option ID=21227]
4[Option ID=21228]
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : According to Hume all ideas are famt copies of impressions.

Reason R : According to Hume we cannot have a simple idea of which we have not had a simple impression.
In the light of the above statements, choose the most appropriate answer form the options given below.

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R is correct.

TWiEd HYH & S H, A G T Feedl § 9 gae Sugad 9 $1 997 S

Fr2 €1 F fay U § uF ofiieuT (Assertion-A) F w0 H faf@d ¢ o g9 39% SN0 (Reason-R) & F4 F
HUFYF-A : 50A F IR 9t TOg S RT #1 3y ARl |

HRU-R : 5OA & A9 THR I $15 91 U T8 ¢ 9ol s gd # SR A 7 6l

TG ®YUF & HEE B A9 G U el § § 98 S @1 9049 S

(1) ASRRIFI TR SRR, A F1 98l W= &

(2) AFRREF TUE AFTR, A ¥ 98 wren W
(3) ATHE dFIR wmT§

4) Axvge dfF"ReT?

1[Option ID=21229]
2[Option ID=21230]
3[Option ID=21231]
4[Option ID=21232]
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Given below are two statements ; One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : For Hegel the function of philosophy is to construct or understand the absolute to prove that truth about reality as a whole
is knowledge.

Reason R : For Hegel, it is not possible to posit anything apart from what falls under mental concepts. To trace the development of
concepts is to trace the development of reality itself.

In the light of the above statements, choose the most appropriate answer form the options given below.

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R is correct.

FWRiEd HYH & S H, A G T el § 9 gad Sugad 9 S 999 S

2 €1 F fay U § uF SfiEuT (Assertion-A) F w0 H faf@d ¢ df g9 39% SN0 (Reason-R) & ¥4 H
HFE-A-vosfmaN e sl Ty T s B RissE & i At s ogmm e F ol Sidgpionda s sad a9 8

FRU-R ; 370 & R aAfs smyRms & agd of $& H a1 3, 59 @l $@ N Wy 1 94T 781 81 SEURms & e #1 9a1 W F e
W A Edl & [SEE &1 90l O A1 G|

IWRIE FYF & AWF § A 3y 70 el § 9 98 3w &1 984 Sl

(1) A JRREF ¥ IR R, A 91 9 @

(2) A RREHE ga g afFT R, A 1 9 ogrem 7€ 2
(3) ATUE AFETR amT T

(4 AmOE AfFTRTTR

1[Option ID=21237]
2[Option ID=21238]
3[Option ID=21239]
4[Option ID=21240]
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Given below are two statements :

Statement I : For Husserl there is no such thing as bare consciousness devoid of an object.

Statement II : Descartes views mind as an autonomous mental substance which might exist independently of all objects of
consciousness.

In the light of the above statements, choose the most appropriate answer form the options given below:.

(1) Both statement I and Statement II are correct.

(2) Both Statement I and Statement IT are incorrect.

(3) Statement I is correct but Statement II is incorrect.

(4) Statement I is incorrect but Statement II is correct.

R srERumy
HYA | ; g & 0 a5 9 Rd BI5 Ja1 8l 8
HYF I1 ; ST 79 B U WO AFfas verd & ®9 # @1 ¢ of 9941 & i aegei ¥ $o) Wdd ¥ § fEa W@ s da § |

IR HYF & HES 8§, 9 2 7 fecd! § 8 98 3 &1 904 Sy
(1) FUF] AR IS T8 8

(2) FYF1 SR 11 =41 7Toa &

(3) T TEI B AP P I T &

(4) Fu 1 7Te &, Wiehe FuA 11 981 &

1[Option ID=21241]
2[Option ID=21242]
3[Option ID=21243]
4[Option ID=21244]
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Given below are two statements :

Statement I : According to Russell ‘Knowledge by acquaintance’ means knowledge of things by direct awareness of the things
concerned.

Statement IT : According to Russell ‘Knowledge by description’ means where we have knowledge by inference from direct awareness of
intermediary things and knowledge of truths.

In the light of the above statements., choose the most appropriate answer form the options given below.

(1) Both statement I and Statement I are correct.




(2) Both Statement I and Statement IT are incorrect.
(3) Statement I 1s correct but Statement II is incorrect.
(4) Statement I is incorrect but Statement II is correct.

RS RTmE
FUT [ ; T & IR uimarEE 9 &1 off § g awg $ @ o F g’ I
FYA 11 : 0 & I9R fGunes 77 951 511 § Tl 55 Ay ot HR 99 F 9 1 wag and § 90 F AEE S 9 W S

TR FYF ® A 8 9 2y T et § 9 98 S w1 90 Fin
(1) Hv= ] FR I e w6 8

(2) &A1 3R 11 <41 7ed &

(3) wyA 1 9&l & @i sy 11 7o 3

(4) Fu= 1 To 2, A oA 11 981 &

1[Option ID=21245]
2[Option ID=21246]
3[Option ID=21247]
4[Option ID=21248]
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Given below are two Statements : One i¢ labelled ag Agzertion A and the  other is labelled as Reason R.

Assertion A : For Aristotle there must be self evident first principles or axioms that can be immediately known by intellectual intuition.
Reason R : For Aristotle providing a deductive proof for an instance of knowledge leads to an infinite regress of proofs.

In the light of the above statements. choose the most appropriate answer form the options given below.

(1) Both A and R are true and R is the correct explanation of A.
(2) Both A and R are true but R is not the correct explanation of A.
(3) Ais true but R is false.

(4) A is false but R is true.

TRIed HYF & AT H, i G 10 e § ¥ e Suged I B 90 S

% €1 #yF AT MU § UF iU (Assertion-A) F w9 # fif€d ¢ o g9 39F N0 (Reason-R) & ¥4 H

HUFYF-A : SRR F [0 aT 98 31 9118t o s wd Risia 71 99d fag Fom 2, 59 aifée sfav= am @i o of 9&a1 & |
FRULR. : 3T & [ T B 92T & R U Fra-ieses w6 1 Jamt & o sfemfear #1 6% S0 $ar s |

IUiEd HYH & A H, A G T el § § el 3T %1 9099 S

(1) A 3R R I 9@ E 3R R. A 1 981 &R &

(2) AFRREHT@E dfFT R, A ¥ w8 oorem TE &
(3) AT AFIR wmT 2

(4) ATE A RTTE

1[Option ID=21249]
2[Option ID=21250]
3[Option ID=21251]
4[Option ID=21252]
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According to Spinoza God is

(1) Creator of the world only.

(2) Transcendent only.

(3) To be identified with the totality of the universe.
(4) First cause and first mover.

R % ER wWaE 2

(1) oo wia & Fmiual

(2) FHaq sEd

(3) wElis &1 GAFA & A1 UgaH @ & g
(4) VYW FRU AR WA YaaE (E)
1[Option ID=21253]

2[Option ID=21254]

3[Option ID=21255]
4[Option ID=21256]
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Who among the following philosophers believes that those propositions which describe the most perfect world the best of all possible
worlds — are true ?

(1) St. Augustine
(2) Descartes

(3) Spinoza

(4) Leibniz
Foffea s & @ 4 g By sa 2 % & 4= o 9aifds gof o 31 smem 330 € - iR Tde SRiIe-Ta W $1 SR &3 6, 99 ¢ -
(1) 4d 1A

(2) &

(3) AN

(4) dsfies
1[Option ID=21257]
2[Option ID=21258]

3[Option ID=21259]
4[Option ID=21260]

Sl. No.71
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Arrange the following in descending order of certainty as per Locke’s view

A. Natural Science

B. Sensitive Knowledge

C. Deductions and demenstrations
D. Intuition

Choose the correct answer from the options given below :

) C.B.D. A

2) D.C.B. A

3) D.A.B.C

(4 D.B.C.A

HafeET &1 die & aRl & ofaR Ridaar & omig »3 § el &§

A, UiFis ag=
B. Sge-diia 3=
C. FFma Ty yeRH
D. #awi

A fau Ty Aeedf # 9 98l St |
1) C.B.D. A

2) D.C.B. A

3) DDA.B.C

(4) D.B.C. A

1[Option ID=21261]

2[Option ID=21262]

3[Option ID=21263]
4[Option ID=21264]

Sl. No.72
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According to Vaisesikas existence of the mind is known by which of the following pramana ?
(1) Perception

(2) Inference

(3) Comparison

(4) Verbal Testimony
EfiE F oguR 7 &1 fea FHefiee § 9 few o & g1 9w g 2




1) vay
(2) 3MIAH

(3) SUAH

(4) ez

1[Option ID=21265]
2[Option ID=21266]

3[Option ID=21267]
4[Option ID=21268]
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Given below are two statements :

Statement I : Ramanuja admits the distinction between the indetermmate and determiate perception.

Statement II : According to Ramanuja both indeterminate and determinate perception equally involve a complex content.
In the light of the above statements, choose the most appropriate answer form the options given below.

(1) Both statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.

(3) Statement I is correct but Statement II is incorrect.

(4) Statement I is incorrect but Statement II is correct.

FYA [ : TA Miiems 09 Sfies Tay $ 99 I $ 9eR $3d ¢ |

FYA | ; TS & 9 Fifeens ik aisas T <H 3§ 994 $0 9 U6 By ivg axg et 71

IRIEd HYF & s 8§, g 2 7 Gec! § 8 95 SR &1 994 S
(1) FUF] AR IS T8 8

(2) FYF1 SR 11 =41 7Toa &

(3) FUF] FEl &, A= FuF 11 Toa &

(4) Fu 1 7Te &, Giehe FuA 11 981 &

1[Option ID=21269]
2[Option ID=21270]
3[Option ID=21271]
4[Option ID=21272]
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Given below are two Statements :

Statement I : Deontologist theories maintain that the basic judgements of obligation are purely particular ones like “In this situation I
should do so and so”.

Statement II : Deontologist theories maintain that the basic judgements of obligation are purely general ones like “we should always keep
our promises”.

In the light of the above statements, choose the most appropriate answer form the options given below.

(1) Both statement I and Statement IT are true.

(2) Both Statement I and Statement IT are false.

(3) Statement I is true but Statement 1T is false.

(4) Statement I is false but Statement II is true.

FYA [ : warRugEe fisia a5 990 § & oifita ¥ 7o oo off o @ e 8 09 <ou Rl & 49 59 o9 o § o 9ied )|
FYF 11 : Pa-RusaE! fasi o8 7m0 & & oifta & oo ol gff ovg & 9@ £ 99 <58 588 o1 a99 e Ty

IRIed FYF & S A, A9 130 U feed! # 8 951 IR ST 9949 By
(1) By SR I1 a1 81 &

(2) TEl AR TS

(3) &Y 1 981 & fe sy 11 o &

(4) FYF [ 7o &, AT FYA 11 961 7

1[Option ID=21273]
2[Option ID=21274]
3[Option ID=21275]
4[Option ID=21276]
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Which of the following schools of classical Indian Philosophy believes in arthapatti and anupalabdhi as valid sources of knowledge ?




(1) Nyaya

(2) Jaimas

(3) Mimamsa

(4) Samkhya
g =8 ¥ ey eemi e 0 TH T 3 W9 F 0 el R ceguatr A Ry s g ?
(1) =mF

(2) 59

(3) #m\r

(4) e

1[Option ID=21281]
2[Option ID=21282]

3[Option ID=21283]
4[Option ID=21284]
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According is which of the following schools of classical Indian philosophy. “the knowledge that ‘I am not (the not-self)’, that nothing is
mine, that ‘ego is unreal’, “ when constantly meditated upon. becomes pure, incontrovertible and abseolute and leads to liberation ?
(1) Tainism
(2) Buddhism
(3) Samkhya
(4) Nyaya
AT W gRiARTee & i@ savedl # | 59 & ogar, <o 99 6 & 7 § o 7). % o9 o 3u 78 2, 9% oEeR ofw 27 vE aaR
e T wran &, < O fim, oiffary v e 59 o € SR ofét T SR o 27
(1) &9
(2) s o
(3) w=m
(4) =T
1[Option ID=21285]
2[Option ID=21286]

3[Option ID=21287]
4[Option ID=21288]
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Given below are two statements :

Statement I : S'ankara attaches supreme importance of the revealed truths of the vedas which are regarded as the ‘breath of God® (yasya
nishvsitam vedah).

Statement IT : Main focus of Sankara’s philosophy is jianakanda, not the karmakanda.

In the light of the above statements. choose the most appropriate answer form the options given below.

(1) Both statement I and Statement IT are true.

(2) Both Statement I and Statement IT are false.

(3) Statement I is true but Statement 1T is false.

(4) Statement I is false but Statement II is true.

HUT [ : M@ 31 B Tl B WaTed Aedl B WIPR S & o TR & 4 & w9 8 @9 Hyfaem da aea &
FYF I1 ; BiET & SRH 3T 80 $5 JHHIS ¢ 7 & FHS1S |

IR FYF & S 8, g 20 70 e § 8 950 St ®1 994 B
(1) &= FR IS w1

(2) A [ 3R 11 <41 7ed &

(3) Ty 1 9& 2, &7 FyA 11 o &

(4) Fu= 1 To 2, Afee e 11 981 &

1[Option ID=21289]
2[Option ID=21290]
3[Option ID=21291]
4[Option ID=21292]
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According to Nyaya school which of the following are included in mvalid knowledge (aprama) ?

A. Alaukika Pratyaksa (extra-sensory perception)
B. Smrti (memory)
C. Sams'aya (doubt)
D. Error (viparyaya)
Choose the most appropriate answer from the options given below :
(1) A.D Oaly
(2) A.B .D Only
(3) B.C.D Only
(4) A.C,D Ouly

g e84 & aR FEfafEd § § S19-91 o9y 719 (3 § i 2
A. Eifes gy

B. wfa #fa)
C. 9= (€7
D. e famin)

=9 feu o fasedi @ W@ SR |
(1) #90 A, D

(2) ¥@@ A.B.D

(3) ¥ B, C.D

(4) F90 A, C.D

1[Option ID=21293]
2[Option ID=21294]
3[Option ID=21295]
4[Option ID=21296]
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Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Vijianavading accept the identification of the means and result of cognition.

Reason R : According to Vijianavadins the object cannot exist independently of consciousness and is itself a form of consciousness.
In the light of the above statements, choose the most appropriate answer form the options given below.

(1) Both A and R are true and R is the correct explanation of A.
(2) Both A and R are true but R is NOT the correct explanation of A.

(3) A istrue but R is false.

(4) A is false but R is true.

F% €1 Fy AT U § ©F iU (Assertion-A) F w0 # fif@d ¢ @ g9 39% &R0 (Reason-R) & U H
HfiFUA-A ; BFFEE I % T1eF &R 99 & oo S R e ¢ |

SRR, ; T & ogar o, 39 & 5 =i w0 ¥ S § 6 % 96dl § 5N O W 99 B 0% 9 6
I HYH & @IS 8, A9 G U el § § 951 9T @1 994 Siud

(1) ASRRIF FUE SRR, A F 98 = &

(2) AFRREA GO dfsT R, A 1 w8 oorem 6 &
(3) AT AfFIR wmT 2

(4 ANGEAFTRTEE

1[Option ID=21297]
2[Option ID=21298]
3[Option ID=21299]
4[Option ID=21300]

Sl. No.80
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Which are the following statements are true regarding Parartha anumana (inference for others)

A. Naiyayikas maintain that it should have five steps.
B. Mimamsakas believe that it should have three steps.
C. Buddhists believe that it could have only two steps.
D. Jainas believe that it should have seven steps.

Choose the correct answer from the options given below :

(1) A.B and C Only

(2) A. B, and D Only

3) A, B,C,D Only

(4) B. C and D Only

frafafEd 8 @ 9-9 Fy= g ogaH (3 & Ru oo ) S aREwE 7 |

A, A&t 31 991 § 5 59 of9 ofad g 91fey
B. S 1 991§ ¥ 59% 7 o@ue 59 91fey
C. 8% A4 & & $9% $a%1 31 3609 & 9% &
D. 57 Ard § T 0% I1a srag g1 =1iee

=9 feu o fasedi @ W@ SR |
(1) FTMA. B3R C
(2) HEA, B, IRD
(3) HIWA. B.C.D
(4) FTTB. C 3R D

1[Option ID=21301]
2[Option ID=21302]
3[Option ID=21303]
4[Option ID=21304]

Sl. No.81
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Given below are two statements :

Statement I : Advaitins accept that all cognition is self valid.

Statement II : Advaitins speak explicitly in their definition of perception of the independent existence of objects.
In the light of the above statements, choose the most appropriate answer form the options given below.

(1) Both statement I and Statement IT are correct.

(2) Both Statement I and Statement IT are incorrect.

(3) Statement I is correct but Statement II is incorrect.

(4) Statement I is incorrect but Statement II is correct.

P 1 : HEaae] WieR i & 6 9t 717 Wa: vE F
HYF 11 ; 3i5d deTa a¥gell B Wad a1 S A Ty $1 gy # Wy w9 9 WeR s # |

IRIed FYF & NS 8, A9 13T 70 Aecd! 5 8 951 IR S 9949 By
(1) By SR 11 1 81 8

(2) ®YF1 &R 11 &4 7o &

(3) Ty ] TE T, AT U 11 Tod &

(4) FYA [ 7o &, AT FYA 11 981 &

1[Option ID=21305]
2[Option ID=21306]
3[Option ID=21307]
4[Option ID=21308]

Sl. No.82
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According to Jeremy Bentham ., how many elements or Dimensions are described to calculate Pleasure and Pain in determining the
Relative worth ?




(1) —Four

(2) —Five

(3) — Three

(4) — Seven

St S F arger Wy e e S0 F avig ik 5 @ o & fog smont % e awt @ el famr T @
1) IR

(2) 4=

(3) =

(4) §d

1[Option ID=21309]
2[Option ID=21310]

3[Option ID=21311]
4[Option ID=21312]
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The book “Critique of Pure Reason™ was written by-
(1) Hume

(2) Hegel

(3) Immanual Kant

(4) 1.8 Mill

o <frfes i Wik fio= fvws g Rl 78 @ 2
(1) &

(2) &

(3) SHTET Bl

(4) ©. w9 A

1[Option ID=21313]

2[Option ID=21314]

3[Option ID=21315]
4[Option ID=21316]

Sl. No.84
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Who advocates that “Right thinking is essential to Right Action * ?
(1) Plato

(2) Bentham

(3) Socrates

(4) Aristotle

B 59 T B TSR BT & 6 “TEl 99 95 71 $ Y HOwE 7 |
1) e

(2) sum

(3) ¥

(4) >

1[Option ID=21317]

2[Option ID=21318]

3[Option ID=21319]
4[Option ID=21320]
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The Book *Symposium’ was written by —
(1) Aristotle

(2) Plato

(3) Socrates

(4) I.S. Mill

T gy s g e g o6 2
(1) 3

(2) ==

(3) P

(4) o uH. e




1[Option ID=21325]
2[Option ID=21326]
3[Option ID=21327]
4[Option ID=21328]
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How many types of Purusharthas are there in Indian Ethics ?
(1) Two

(2) Three

(3) Four

(4) Five

R Afedar & fbas ver & geuel £ 2

) =

(2) d=

(3) 9

(4) Ui

1[Option ID=21329]
2[Option ID=21330]
3[Option ID=21331]
4[Option ID=21332]
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Which of the following is not considered as a deabt( Rina) by the Indian Philosophy ?
(1) Rishi-Rina

(2) Deva-Rina

(3) Pitr-Rina

(4) BhU ta-Rina

YR g=iF A FEfiiEd 3 9§ & o B0 & F9H A TR E

1) = s

(2) T@-=m

(3) fag-»m

(4) A-BW

1[Option ID=21333]
2[Option ID=21334]
3[Option ID=21335]
4[Option ID=21336]
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The Book ‘Gita Rahasya’ was written by-
(1) Dr. S. Radha Krishnan

(2) M. K. Gandhi

(3) Lokmanya Bal Gangadhar Tilak

(4) Anmie Besant

“fiar e g fhas g R 7ig o 2

(1) S1 09 UYIHwH

(2) . &, T

(3) dEarg ar| R e
(4) Tt a¥e

1[Option ID=21337]
2[Option ID=21338]

3[Option ID=21339]
4[Option ID=21340]
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*Yogaha karmasu Kaushalam’ is the teaching of which of the following text ?
(1) Bhagawad Gita
(2) Samkhya pravacan sutra




(3) Tripitak

(4) Tattvarthadhigam sutra

T Ty wEem ettt § 9 e o 3 e g
(1) wEEa

(2) e HaEA ¥F

(3) Hfe=

(4) warf s g7

1[Option ID=21341]

2[Option ID=21342]

3[Option ID=21343]
4[Option ID=21344]
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In Jain Philosophy and Ethics the state when Karmic Particles actually begin to flow towards the soul to bind; it 1s called .
(1) Samvara

(2) Asrava

(3) Nirjara

(4) Moksa

S EA SR AGEal A 98 a1 T FBH-SU G H A § §8 S $ [0 S $ SR AR 8 W 7 Al 99 w1 B [T BEd @ 2
(1) =

(2) HET

(3) ol

(4) Hre

1[Option ID=21345]

2[Option ID=21346]

3[Option ID=21347]
4[Option ID=21348]
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‘Ignorance is the real cause of Bondage’ who agrees with this ?
(1) TJainism

(2) Buddhism

(3) Vedanta

(4) All of the above

‘T B YT T STl FRU S O S99 9ed & ?
(1) &9 o

(2) s uH

(3) dei™

(4) gudia w4

1[Option ID=21349]

2[Option ID=21350]

3[Option ID=21351]
4[Option ID=21352]
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QBID:8942267

Which school of classical Indian Philosophy advocates the notion of five Yamas ?
(1) Yoga (Patanjali)

(2) Nyaya

(3) Sankhaya

(4) Charvaka

AT YR S8 &1 $14 A1 7d ‘0" g9 1 Jae- a1 & 2

1) gm

(2) =

(3) ¥

(4) =rdi®

1[Option ID=21353]




2[Option ID=21354]
3[Option ID=21355]
4[Option ID=21356]
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What are the most common classifications used today for Euthanasia ?
(1) Active

(2) Passive

(3) Both (1) and (2)

(4) None of the above

T F U e SUarT 50 9 a6 Sa8 319 aeifer F7 2
(1) =ieg

(2) fAfeea

(3) FHf(1) 3R (2)

(4) IwiE § § #1578l

1[Option ID=21357]

2[Option ID=21358]

3[Option ID=21359]
4[Option ID=21360]
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Which of the following is an accepted view in classifications of Environmental Ethics ?
(1) Egocentric

(2) Anthropocentric

(3) Pathocentric

(4) All of above

Fr fe U el Afaed & w8 e S gar g |

(1) EEd

(2) A HIET (T Hid )

(3) fwamg ( AFgaERE )

(4) 3Iudiag 94

1[Option ID=21361]
2[Option ID=21362]
3[Option ID=21363]
4[Option ID=21364]

Sl. No.95
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Which theory about Environmental Ethics maintains that ‘The good of another person, another group or All mankind is irrelevant.
(1) Egocentrism

(2) Biocentrism

(3) Holigm

(4) Pathocentrism

aiaRu e F N § B4 - 91 4G g8 99 & F e oy safaa, gav agp a1 oft 3 wifa &t wens R 300
(1) EPHRAE

(2) wa siZsag
(3) FHACII

(4) fHamEE ( AHITER )

1[Option ID=21369]
2[Option ID=21370]
3[Option ID=21371]
4[Option ID=21372]
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Who wrote the Book *The kingdom of God is within you® ?

(1) M. K. Stalin
(2) Leo Tolstoy

(3) John Ruskin




(4) 1.L.Nehru

‘g fdren offe s su faega o e B Bl 8 2
(1) ©H & T

(2) e eicer

(3) 9 IR"HA

(4) S TwE

1[Option ID=21373]

2[Option ID=21374]

3[Option ID=21375]
4[Option ID=21376]
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Gandhiji based his concept of *Ahimsa’ by which Book and linked it to the idea of non-attachment and Freedom from hatred, pride and
anger.

(1) Bhagwad Gita

(2) Ramayan

(3) Maha Bharat

(4) Upanishad

el 3 caifEEr F ot muR B e oo g omeRa o R e 9w e, yon, W iR A I g S AR S dea §
(1) wEea

(2) TR

(3) HEHRA

(4) Sufg

1[Option ID=21377]

2[Option ID=21378]

3[Option ID=21379]
4[Option ID=21380]
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Who among the following propounds the view that means justify the End ?
(1) Swami Vivekanand

(2) Swami Ram Tirtha

(3) I.L. Nehm

(4) M.K. Gandhi

ffafan 8 @ 5os gn g8 =ftar eaaifen e m & am o1 & Sifvw &1 g Fxarg 2
1) @ faaere

(2) =rf Twed

(3) § T AEE

(4) T &

1[Option ID=21381]

2[Option ID=21382]

3[Option ID=21383]
4[Option ID=21384]
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Who among the following is the author of 'Riddles of Hinduism' ?
(1) Swami Vivekanand

(2) Dr. B.R. Ambedkar

(3) M.K. Gandhi

(4) I.L. Nehru

e S wF Tow it g s das ¢ ?

1) @ fgderg

(2) 1 9. o, asax

(3) T F.

(4) .U w/E

1[Option ID=21385]




2[Option ID=21386]
3[Option ID=21387]
4[Option ID=21388]
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Which theory of Ethics advocates “The greatest happiness for the greatest Numbers™ ?
(1) Egoism

(2) Positivism

(3) Utilitarianism

(4) Deontology

“fftrmom e & sHfiEan e 5w St e aw vinfes e man g 2
(1) 3EHAE

(2) ¥&dE

(3) IygIfTamETE

(4) FATHTSAEE

1[Option ID=21389]

2[Option ID=21390]

3[Option ID=21391]
4[Option ID=21392]




